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Instructions:
o Wiite legibly
i, Secieptific and nen-programmable calewlators are permitted
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ELF i mmmmmem mmamm e e = [ e —— e —

Pari A
{2 Qx5 M= 10 Marks)
. Nume the types of supports used in practice, Also explain anyone wilh a neat sketch indicating the

direchion of reactions,
2. A simply supported beaim of span 6 nt is subjecied to loading as shown in (he figare 1, Determine (e

reactions al A and B,

5 KN sy 2 KN
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£ (Figure 1)
Pari B

{1 Qx 10 M= 10 Marks)

3. Find the suppaori reactions of the bean loaded as shown in figure 2.

3 KN 2 KN/m
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(Figure 2)
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Trars .
{FQx X M- 10 Marks)

4. Calenlate the tension in the string BC and the reactions at the hinged support D for beam ABD in
cguibbriun, shown in fipure 3.
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{Ingure 3)
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Wiax Marks: 30 hax Time: 55 Mins Weighluge: 15 % SET A
TEST-2

11 Semester 201 6-17 Course: MID A 114 Engincering Mechanies 24 March 2017

Enstructions:
1. Write legibly
.  Sctentific and non-proprammable caleulators are permiited

Iart A
{2 x5 M= 10 Marks)

EFr

1. State and prove parallelogram law of forces,

2

Adr elecizic hiplt fixture welghing 25 N hangs from a point C, by two sirings AC and BC. The string
AC s inclined at 60" 1o the horizonlal and B3C al 45% 1o the verlical; as shown in fipure 1. Determine

the forces in the strinps AC and 3C.
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Fignre-]

Fart 3
(1 Q) x 10 M=10 Marks)

3. A rigid plale ABCD s subjected 1o forees as shown i Figure 2. Compute the magnilude and line

of action of The resuliant of the system with reference {o the point A,
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Part

(1 O x 10 M= 10 Marks)

4. Deterntine the reactions al contact points for spheres A, B and C as showa in figure 3, Has given

that: Wa=Wp=4KN , Wr=6KN , dy = ds = 500 mm, de = 800 mm

atmsnnss S YT wernnnit

Figure -3
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Max Marks: 30 Max Time: 55 Mins Weighlape: 15 %
TEST-1
1 Semester 2016-17 Course: MIL A 110 Engincering Mechanics
Instruciions:
Write legibly
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2.

4.

g

5.

.......................... . ——

Scientific and non-programmable caleulators are permitted

List assumplions made in Engineering mechanics
Define force and its characieristics.

State and explain Newton™s 1™ law of molion.

Pari B

Delermine the resultant of the concurrent force system shown in figare -1,

. i
L !
]
| 00K
]
1
i
i
i
]
: 5
e oy 1
: s
i
i
]
:
; 150 K
102 {F
i
Fignre -1

With peat diagram explain the principle of iransmissibility of Torce.

(3 Q x 4 M= 12 Marks)

(2 x 3 M= 10 Marks}
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